LIMAdvisors

FACSIMILE MESSAGE

Date:

19 August 2016

To:

The Australian Stock Exchange Limited

Fax:

+61 2 9778 0999

Phone:

+61 2 9338 0000

Total Pages:

5 (including cover page)

From:

Compliance, LIM Advisors Limited

To Whom It May Concern:

Enclosed please find the Form 604 - Notice of Change of Interests of Substantial Holder.

Please contact Compliance (compliance@limadvisors.com) for any enquiries.

Regards, Compliance

If this fax is not clearly received please call (852) 2533 0900 or fax (852) 2533 0951.

The fax message contained herein is strictly private & confidential & is intended only for the addressee(s) named above. The message may not be used by anyone other than the intended recipient & should not be disclosed to any other person.

No. 0303 P.

04 page 1/2 15 July 2001

Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme

AMP Capital China Growth Fund

ACN/ARSN

15159557721

1. Details of substantial holder(1)

Name

LIM Advisors Limited (please see Appendix 2)

ACN/ARSN (if applicable)

There was a change in the interests of the substantial holder on

180846

The previous notice was given to the company on

01,0416

The previous notice was dated

01/04/16

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities (4) Pravious notice			Present notice	
	Person's votes Voting p	iower (5)	Person's votes	Voting power (5)
Ordinary shares	47,061,228	9.98% 4	1,273,230	8.75%

3. Changes in relevant interests

Particulars of each change in. or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
Please s	ee attached	Appendix 1			

4. Present relevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Nature of relevant interest (6)	Class and number of securities	Person's votes
Please	see attached	Appendix 2			
	<u></u>			<u></u>	

5. Changes In association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
N/A	
-	···

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address		•

Signature

print name Benjamin Mak

capacity Authorised Signatory

sign here

date 19/08 /2016

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 6 of the form.
- (2) See the definition of "associate" In section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant Interest" in sections 608 and 671B(7) of the Corporations Act 2001,
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (6) Include details of:
 - (a) any relevant agreement or other circumstances because of which the change in relevant interest occurred. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (7) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, becomie entitled to receive in relation to that acquisition. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.
- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Give details, if appropriate, of the present association and any change in that association since the last substantial holding notice.

Appendix 1 AMP Capital China Growth Fund

HOLDER OF RELEVANT INTEREST	T/D	B/S	CCY	ΩТУ	PRICE	CONSIDERATION
	Balance b/f as of 31 M	ar 2016		47,061,228		
LIM Asia Special Situations Master Fund Limited	4/1/2016	Sell	AUD	10,020	0.8440	8,456.88
LIM Asia Multi-Strategy Fund Inc.	4/1/2016	Sell	ΑŲÞ	40,080	0.8440	33,827.52
LIM Asia Special Situations Master Fund Limited	4/4/2016	Şell	AUD	10,673	0.8258	8 ,813.76
LIM Asla Multi-Strategy Fund Inc.	4/4/20 1 6	Sell	AŲD	42,694	0.8258	35,256.71
LIM Asia Multi-Strategy Fund Inc.	4/5/2016	Sell	AUD	75,000	0.8111	60,832.50
LIM Asia Special Situations Master Fund Limited	4/5/2016	Sell	AUD	18,751	0.8111	15,208.94
LIM Asla Special Situations Master Fund Limited	4/15/2016	Sell	AŲD	3,320	0.8283	2,749.96
LIM Asia Multi-Strategy Fund Inc.	4/15/2016	Sell	AUD	13,280	0.8233	10,999.82
LIM Asia Multi-Strategy Fund Inc.	4/15/2016	Sell	AUD	6,560	0.8300	5,444.80
LIM Asia Special Situations Master Fund Limited	4/15/2016	Şell	AUĎ	1,640	0.8300	1,361.20
LIM Asia Multi-Strategy Fund Inc.	4/18/2016	Sell	AUD	36,784	0.8244	30,324.73
UM Asia Special Situations Master Fund Limited	4/18/2016	Self	AUD	9,196	0.8244	7,581.1 8
LIM Asia Multi-Strategy Fund Inc.	8/17/2016	\$ell	AUD	404,236	0.9600	388,066.56
LIM Asia Special Situations Master Fund Limited	8/17/2016	Şell	AUD	115,764	0.9600	111,133.44
LIM Asia Special Situations Master Fund Limited	8/18/2016	Self	AUD	1,250,000	0.9650	1,206,250.00
UM Asia Multi-Strategy Fund Inc.	8/18/2016	Sell	AŲD	3,750,000	0.9650	3,618,750.00
		Total Sell		5,787,998		
	0	verall decreas	e	5, 7 87,998		
	Balance b/f as of 31 Ma	r 2016		41,273,230		

Appendix 2

Holder of relevant Interests	Register holder of securities	Person entitled to be registered as holder	Nature of relevant Interest	Class and number of securities	Person's votes
LIM Asia Multi-Strategy Fund Inc.	HSBC Custody Nominees Australia Ltd	LIM Asia Multi- Strategy Fund Inc.	Power to control the exercise of ar right to vote attached to securities and/or the power to dispose of securities as investment manager	32,221,738 ordinary shares	6.83%
LIM Asia Special Situations Master Fund Limited	HSBC Custody Nominees Australia Ltd	LIM Asia Special Situations Master Fund Limited	Power to control the exercise of ar right to vote attached to securities and/or the power to dispose of securities as investment manager	9,051,492 ordinary shares	1.92%